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7HNQRORJL� LQIRUPDVL� PHQGXNXQJ� EHUMDODQQ\D� SURVHV� SHOD\DQDQ� DNDGHPLN�

XQWXN�PHQJKDVLONDQ�VLVWHP�EHODMDU�PHQJDMDU�\DQJ�EHUNHODQMXWDQ�GDQ�PHQLQJNDWNDQ�

HIHNWLYLWDV�ELVQLV�,QVWLWXVL�3HQGLGLNDQ��1DPXQ�SHUOX�GLSHUKDWLNDQ�MXJD�XQWXN�DVSHN�

NHDPDQDQ� SDGD� WHNQRORJL� LQIRUPDVL� GLSHUOXNDQ� DGDQ\D� GRNXPHQWDVL� GDIWDU� DVHW�

WHNQRORJL�LQIRUPDVL�\DQJ�GLDQJJDS�EHULVLNR�GLQLODL�SHQWLQJ�VHEDJDL�EDKDQ�HYDOXDVL�

XQWXN�PHQLQJNDWNDQ�NHDPDQDQ�SDGD�VLVWHP�LQIRUPDVL� ,QVWLWXVL�3HQGLGLNDQ�;<=��

6DODK�VDWX�DVHW�WHUSHQWLQJ�PLOLN�,QVWLWXVL�3HQGLGLNDQ�;<=�DGDODK�:HE�.56�'DULQJ�

�.DUWX�5HQFDQD�6WXGL�'DULQJ���.56�'DULQJ�PHPSXQ\DL�GDWD�VDQJDW�SHQWLQJ�EHUXSD�

GDWD�SULEDGL�PDKDVLVZD��PDWD�NXOLDK�\DQJ�GLDPELO��WUDQVNULS�QLODL��GDWD�NHKDGLUDQ��

GDWD� NHQGDUDDQ�� GDQ� GDWD� SHPED\DUDQ�� $VHW� WHUVHEXW� SHUOX� GLODNXNDQ� SHQHOLWLDQ�

XQWXN� PHQJHWDKXL� NHUHQWDQDQQ\D� PHQJJXQDNDQ� NHUDQJND� NHUMD� 9$37�

�9XOQHUDELOLW\� $VVHVVPHQW� DQG� 3HQHWUDWLRQ� 7HVWLQJ��� $SOLNDVL� \DQJ� GLJXQDNDQ�

XQWXN�PHQJHWDKXL�NHUHQWDQDQ�NHDPDQDQ�SDGD�DVHW�VLVWHP�LQIRUPDVL�DGDODK�2:$63�

=$3� �2SHQ� :HE� $SSOLFDWLRQ� 6HFXULW\� 3URMHFW� =HG� $WWDFN� 3UR[\��� VHODQMXWQ\D�

GLODNXNDQ� SHQHWUDWLRQ� WHVWLQJ�� 6HWHODK� LWX� GLEXDWNDQ� ODSRUDQ� KDVLO� SHQJXMLDQ�

NHUHQWDQDQ� SDGD�:HE� .56� 'DULQJ� \DQJ� GLWXMXNDQ� NHSDGD� ,QVWLWXVL� 3HQGLGLNDQ�

;<=��

.DWD�.XQFL��6HFXULW\�$VVHVVPHQW��9XOQHUDELOLW\�$VVHVVPHQW��3HQHWUDWLRQ�7HVWLQJ��

2:$63��9$37��
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,QIRUPDWLRQ� 7HFKQRORJ\� VXSSRUW� UXQQLQJ� SURFHVV� HGXFDWLRQ� VHUYLFH� WR� YDOXH��

VXVWDLQDEOH� WHDFKLQJ� OHDUQLQJ� V\VWHP� DQG� LQFUHDVH� HIIHFWLYHQHVV� RI� EXVLQHVV�

HGXFDWLRQ� LQVWLWXWHV�� � %XW� LW� VKRXOG� WR� VHFXULW\� DVSHFW� LQIRUPDWLRQ� WHFKQRORJ\�

UHTXLUHV�GRFXPHQWDWLRQ�RI�LQIRUPDWLRQ�WHFKQRORJ\�DVVHWV�WKDW�DUH�FRQVLGHUHG�ULVN�

DV� LPSRUWDQW�DV�HYDOXDWLRQ�PDWHULDO� WR� LPSURYH�VHFXULW\� LQ� WKH�;<=�(GXFDWLRQDO�

,QVWLWXWLRQ� LQIRUPDWLRQ� V\VWHP�� 2QH� WKH� PRVW� LPSRUWDQW� DVVHWV� RI� WKH� ;<=�

(GXFDWLRQDO� ,QVWLWXWLRQ� LV�:HE�.56�2QOLQH� �6WXG\�3ODQQLQJ�&DUG�2QOLQH���.56�

2QOLQH�KDYH�YHU\�LPSRUWDQW�GDWD�LQ�WKH�IRUP�RI�VWXGHQW�SHUVRQDO�GDWD��FRXUVHV�WDNHQ��

DFDGHPLF�WUDQVFULSW��DWWHQGDQFH�GDWD��YHKLFOH�GDWD��DQG�SD\PHQW�GDWD��$VVHW�QHHG�

WR� EH� UHVHDUFKHG� WR� ILQG� YXOQHUDELOLWLHV� XVLQJ� IUDPHZRUN� 9$37� �9XOQHUDELOLW\�

$VVHVVPHQW�3HQHWUDWLRQ�7HVWLQJ���$SSOLFDWLRQ�XVHG�WR�ILQG�VHFXULW\�YXOQHUDELOLWLHV�

LQ� LQIRUPDWLRQ� V\VWHP� DVVHWV� LV� 2:$63� =$3� �2SHQ� :HE� $SSOLFDWLRQ� 6HFXULW\�

3URMHFW�=HG�$WWDFN�3UR[\��WKHQ�SHQHWUDWLRQ�WHVWLQJ�LV�FDUULHG�RXW��$IWHU�WKDW�D�UHSRUW�

RQ�WKH�UHVXOWV�RI�WKH�YXOQHUDELOLW\�WHVWLQJ�RQ�WKH�:HE�.56�2QOLQH�ZDV�PDGH�WR�WKH�

;<=�(GXFDWLRQDO�,QVWLWXWLRQ��

.H\ZRUG�� 6HFXULW\� $VVHVVPHQW�� 9XOQHUDELOLW\� $VVHVVPHQW�� 3HQHWUDWLRQ� 7HVWLQJ��
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